





Module 6.2 – Answer to Exercise 2 











		You are given an End-of-Module objective.  After reading it carefully, try to select an appropriate type of test to measure the objective, determine the number of test questions required to test the objective reliably, and then construct a test question.  You question should include directions and scoring key though the instructions for the examiner are not necessary.








Objective:  (a5; 1.5/2.6)





		Given erroneous circuit diagram(s) of 3-stage transistorized amplifier(s) and the corresponding references, the trainee should be able to identify 90% of the design errors.





Type of test question which should be used:





	A valid test would be "real performance in simulated conditions" (a performance test); e.g., giving the trainee circuit diagram(s) with designed errors and requesting him to identify them.








Number of questions to be used (justify):





		One diagram with 10 errors like the one suggested above would be sufficient to make scoring easy and correct (10% each).  However, it may be that to squeeze 10 errors into one circuit diagram results in some obvious and some more difficult errors to detect.  Therefore, perhaps 2 different diagrams, each with 5 errors of similar degree of difficulty would be better.








Test question (directions to the trainee):





		You have in front of you 2 circuit diagrams, each of which contains 5 design errors.  Circle each error you find.  You will be considered qualified if you identify at least 9 or the 10 errors correctly.








Scoring Key:





		9 or more errors correctly identified = PASS; less than 9 = FAIL.


Construction of Test Questions
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